
Time to get to work (t minutes) 
Time 

Frequency  0 < t ≤ 10 
3 10 < t ≤ 20 

8 20 < t ≤ 30 
11 30 < t ≤ 40 
9 40 < t ≤ 50 

9 

TABLE A 

Height of girls  
 

Height 

(h, cm( 

Frequency  

120 < h ≤ 130 
3 

130 < h ≤ 140 
6 

140 < h ≤ 150 
7 

150 < h ≤ 160 
8 

160 < h ≤ 170 
6 

Trainer shoe sizes 
Shoe size Frequency  34 to 36 

4 37 to 39 
12 40 to 42 
3 43 to 45 
1 

TABLE B TABLE C 

Hours using a PS3 

No of hours  

(h, hours) 

Frequency  

0 <  h ≤  2 
10 

2 <  h ≤  4 
15 

4 <  h ≤  6 
30 

6 <  h ≤  8 
35 

8 <  h ≤  10 
25 

10 <  h ≤  12 
5 

Annual    Salary 
Salary (S, £) No of people 10000 <  S ≤  14000 32 14000 <  S ≤  16000 24 16000 <  S ≤  18000 16 18000 <  S ≤  20000 6 

20000 <  S ≤  40000 9 
40000 <  S ≤  50000 2 50000 <  S ≤  100000 1 

Boys height 
 

Height 

(h, cm) 

Frequency 

120 < h ≤ 130 
8 

130 < h ≤ 140 
16 

140 < h ≤ 150 
25 

150 < h ≤ 160 
30 

160 < h ≤ 170 
21 

TABLE D 

TABLE E TABLE F 
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